








1.4.2 Compound interest

This is more realistic than simple interest mentioned above and assumes de; tors wi
gain interest on their interest as their money lies untouched in their account, rather thar
withdrawing interest on the day it is earned. e

For example, $1000 gaining compound interest of 12% per annum over 1~1J_| can bl
calculated the following way: L

$1000 x 1.12 112x112 - To ineai
ld_eposi:t + 'jnterest for ﬁrstl year
Year 1's total + interest for second year
:’Iear 2's total + interest for third year,
that is, total after 3 years = $1000 % 1.12 x 1.12 x1.12
= $1000 x 1.12°
=$1404.93 (to the
=$1404.93 $1000

= $404.93,
We can use the formula:

Compound interest
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1.6 Loans

1.6.1 Loans involving flat-rate interest

Loans involving flat-rate interest involve simple interest which is calculated on the orig
nal amount borrowed, regardless of the amount of money owing.

- Examples |

?}x Peter borrowed $4000 from the bank ~ ment was $300. If she was charged fla
- and was charged flat-rate interest of _ rate interest of 10% per annum, find he
~ 11% per annum. He was allowed to ~ original loan,

ol - repay the loan in 36 monthly instal-

~ ments. Find the amount of each St SUEUTION
. instalment. . Total repayments = $300 x 24
SOLUTION = $7200

| m T.hm iaamlar to Example (c)

| ,,5, Letnngma]luan =L Interest
=L x10% %!

L+Lx10%x2="7200
~ L+Lx0.1%2=7200
L_-HJEL 7200
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1.6.2 Loans involving reducible interest

The vast majority of loans involve reducible interest, that is, interest is calculated on the

amount owing at specified times throughout the loan period.

- Examples

Brad borrows $9000 from a bank and
agrees to meet the annual repay-

. ments of $2100. He is charged
- \nterest at 14% per annum reducible.

How much will he owe the bank after
two repayments?

~  SOLUTION: Each year Brad is
-~ charged interest on the balance

~ owing and then makes his annual
'~ repayment.

~ Amount owing after one year

= $9000 x 1.14 — $2100

* of two years.

. month.

Carolyn decides to borrow $72 000 for a
home loan. At the end of each month,
interest is calculated before the monthly
repayment is made. The interest rate is
15% per annum, monthly reducible. She
decides to repay the loan at $950 per
month. How much will she owe after
her first monthly repayment?

SOLUTION: 15% per annum means
1_12 % per month, that is, 1.25% per

= $8160. Amount owing after one month
Amount owing after two years = $72 000 x 1.0125 — $950
= $8160 x 1.14 — $2100 = $71 950.
= $1E02A: [Note that after repaying $950, only
- Brad still owes $7202.40 at the end $50 has come off the borrowed

amount.]
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